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A& EHIHA 2l 8,000& x100H 800
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OZ&ei s H &bl 18,580& 100 1,858
J| 929
< 279
Al 650
OZdas & I ¢ 5,000& x540H 2,700
J| 1,350
< 405
Al 945
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M AHYU= AALE
Sl 2.0 MYY KlYReAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ#5 8= S H%HE 28 & I=2
Zgael Z&, =Yl 11,220& »2,000H 22,440
J| 11,220
< 3,366
Al 7,854
WOIX & S0y NRMSE(NOE L Hwael) 2,946 2,946 0
J| 1,473
< 295
Al 1,178
307 glz2tol & 2,946 2,946 0
J| 1,473
< 295
Al 1,178
01 222l 2,946 2,946 0
OO0OIE &lIEhAlE ¢ 4,750 x400H 1,900
J| 950
= 190
Al 760
Odgd JEhAlF ¢ 2,092& «500H 1,046
J| 523
= 105
Al 418
ZUHEE & JIUSZEE olgzel 7,000 5,000 2,000
= 7,000
201 2Bt | 5,000 3,000 2,000
= 5,000
01 At 22l 5,000 3,000 2,000
OJIMESHE HL2eANY E2E3 ¢
2,500,000& »23| 5,000
= 5,000
202 o4l 1,450 1,450 0
= 1,450
01 201 b 1,450 1,450 0
OJHsEE HL2cIMY Al 1,450
= 1,450
307 glz2+ol & 550 550 0
= 550
01 22724l 550 550 0
OJIdMs&E 24X XIZHl X
2,000& x50H 100
= 100
OJIds At IR 22 450,000& x13] 450
= 450
58| 2ed £X - 2N MY 100,000 0 100,000
= 100,000
201 Let2dE] 2,000 0 2,000
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M Igols AQAE
Helr 2.2td dgE olg2 fEH)
M- E8 e (30) - ALY - B AR il 2
= 2,000
01 AFR2t2lHl 2,000 2,000
OsgJIdgsedY MRES F(M X ) 2,000
= 2,000
307 glztol & 8,000 8,000
= 8,000
01 =L =4l 8,000 8,000
OsgJIdgseyY 9288 P (2AHE 3) 8,000
= 8,000
405 XHoHF S HI 90,000 90,000
= 90,000
01 ML EZFHEH 90,000 90,000
Osgllagsae 2gAeoy
55,900,000 *1CH 55,900
= 55,900
OZ=HH =M ¥ 1,600,000 «3MI E 4,800
= 4,800
O=AI 600,000 =104 600
= 600
O& 37| 200,000& =4TH 800
= 800
OXsE A 2,000,000 = 1CH 2,000
= 2,000
oggx Al 2,800,000 *2CH 5,600
= 5,600
OdLt| 2,000,000 =2CH 4,000
= 4,000
OIS (MY, X, 2T S 16,300
= 16,300
DZ2UHI0IHAAZ S S 19 AelgJAX=H X2 5,730 5,730
= 2,865
= 2,865
307 glz2+ol & 5,730 5,730
= 2,865
< 2,865
01 22724l 5,730 5,730
OZZ Lol A28 S19 Al X =l
955,000& x6H 5,730
= 2,865
< 2,865
ojorei A ol U AXAY 592,674 82,940
J| 286,517
=) 66,543
Al 239,614
ol 22 9B ANHA X 41,040 A 1,360
< 11,100
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Al 29,940
S|t AT ALY 18,840 13,700 5,140
201 ¢er24] 14,140 9,000 5,140
01 ArR2t2ltl 14,140 9,000 5,140
OdlY 2Bstxd g2 F2EH| 3,000
=9 60,0003 255 1,500
EE2E3 1,500& *1,000H 1,500
O=J1d228d g2= ¢ 3,000
= 60,0003 254 1,500
. BEES 1,500& *1,000H 1,500
OXNsSHAISI IERIX #& 220,000 «3704 8,140
202 Oddl 2,000 2,000 0
01 SLHOYI 2,000 2,000 0
og=zla 3 O Hl 2,000
301 LPENF 2,700 2,700 0
12JIEE43 2,700 2,700 0
OdtY 2stxd ZA==¢ 80,000& »253] 2,000
O2=2J12 SMA A ENE LA
700,000& * 12l 700
=S32H9z0|2 S3EHMY(EX 22,200 26,700 A 4,500
= 11,100
Al 11,100
307 glz2tol & 22,200 26,700 A 4,500
= 11,100
Al 11,100
02 AHFHAEEE 22,200 26,700 A 4,500
OSSEHgzl& SZEAANG (ZRAZE) 15,000
< 7,500
Al 7,500
OBZLORIZ BRLANY(HR QY
sl 7,200
) 3,600
Al 3,600
27 U O 2H XA 551,634 467,334 84,300
Jl 286,517
=) 55,443
Al 209,674
ot XA X2 (30t JIZBEALL) 265,800 179,200 86,600
J| 132,900
& 26,580
Al 106,320
101 @144 Hl 13,000 15,000 A 2,000
J| 6,500
=) 1,300
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= _ — d =
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Al 5,200
04 D12t Z2XEES 13,000 15,000 A2,000
O20tLEE ALY LY 13,000
J| 6,500
< 1,300
Al 5,200
307 21201 A 252,800 164,200 88,600
J| 126,400
< 25,280
Al 101,120
05 BIZERIE 3 252,800 164,200 88,600
o=t & At 252,800
J| 126,400
= 25,280
Al 101,120
2t olEsd ¥ Morztel X 167,000 118,220 48,780
J| 83,500
< 16,700
Al 66,800
307 glz2tol & 167,000 118,220 48,780
J| 83,500
< 16,700
Al 66,800
01 22724l 167,000 118,220 48,780
O ozd XA 167,000
J| 83,500
< 16,700
Al 66,800
AL HEI 2A=2H XNJ ALY 79,434 124,000 A 44 566
J| 39,717
< 7,943
Al 31,774
307 BI2H0| A 79,434 124,000 N 44,566
J| 39,717
< 7,943
Al 31,774
05 RIZt2IEt = 79,434 124,000 A 44 566
OsH&E&X 2=dl XA 79,434
J| 39,717
< 7,943
Al 31,774
2S04 2B AL X3 38,000 40,758 A2,758
Jl| 30,400
< 3,800
Al 3,800
307 gl2tol & 38,000 40,758 A2,758
J| 30,400
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Hu: AME AR DEAMYL B4
Sel: E2AC MEES FlE NBAH RC (B9 ®R)
. 5 . 4 ~
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,100
307 glz2tol & 3,000 2,100 900
< 900
Al 2,100
02 It M AHE X 3,000 2,100 900
ORIMSSH 2LEH XA 3,000
< 900
Al 2,100
SAE & AEMHE XA 56,000 70,000 214,000
< 24,000
Al 32,000
402 RIZ2EXt20l ™ 56,000 70,000 A 14,000
< 24,000
Al 32,000
02 RIZt X2 AL EZ (OIS ) 56,000 70,000 214,000
O848 5 AN&d X& 56,000
< 24,000
Al 32,000
LA SSAMMEIAMNE RE 3,700 3,700 0
= 200
< 990
Al 2,510
Aol SESAMAMUAME RS (EX) 3,300 3,300 0
< 990
Al 2,310
301 LA F 3,300 3,300 0
< 990
Al 2,310
12 JIEtE& = 3,300 3,300 0
OZUHS=SAMZAIA &Sl 50,0003 66 3,300
< 990
Al 2,310
FAMES ot 2el 400 400 0
= 200
Al 200
202 o4dl 320 320 0
= 160
Al 160
01 = LH o4 1l 320 320 0
ORMES =04l 320
=2 160
Al 160
206 = Hl 80 80 0
2 40
Al 40
01 =8l 80 80 0
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= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o e 2
OfIMES =HEA 80
2 40
Al 40
AT I A2 2e| At 3,821,380 4,183,638 A 362,258
= 60,000
ras 276,000
J| 633,266
< 272,963
Al 2,579,151
FE 24 ALY 15,100 15,100 0
AR A2 ze| 15,100 15,100 0
201 L4l 3,000 3,000 0
01 At 22l 2,550 2,550 0
OUKE 2R4+R 2y
17,0002 » 1504 2,550
02 =224l 450 450 0
OUHE 2R=% 2 AZAA 450
202 44l 3,600 3,600 0
01 S LHOIYI 3,600 3,600 0
Os&XIJAS 3,600
203 YR =&l 1,000 1,000 0
03 A BF=AHRF=ZY 1,000 1,000 0
OS LKA A 1,000
307 21201 A 7,500 7,500 0
01 922724l 7,500 7,500 0
OJ1& 0 & AtH| 25,000& »200H 5,000
OZ& AL Al 2l 2,500
K& A 2,464,106 2,426,548 37,558
= 60,000
s 276,000
J| 28,578
< 94,439
Al 2,005,089
EM=ctz N 1,795,500 1,828,500 A 33,000
301 LEAZ 1,767,000 1,815,000 A 48,000
01 MEI2EZE 405z 1,767,000 1,815,000 A 48,000
Osd=d= 1,575,000
A AIS (X WO 1,000,000& 160X 160,000
AAIZ(S MOt 2,000,000 x120H 240,000
2 Al = (A ot 4,000,000& 40 160,000
LAIS (L0l &) 5,000,000 x20H 100,000
3 (X Mot 1,000,000& *170H 170,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZES(SMOt) 1,000,000& 300 300,000
EE 3 (A MOL0l &) 2,000,000& x200H 400,000
ZESI(HUMOoLol &) 3,000,000& x15H 45,000
O&E Alaor AZ2elAb X3 192,000
2o2Hz &3 800,000& 240 192,000
307 glz2+ol & 28,500 13,500 15,000
01 2724l 28,500 13,500 15,000
Odsoer HAX =4 NF= 900,000& «15H 13,500
O X AAHl X& (A FAS)
300,000 »502¢ 15,000
S&E 290 =28 65,200 77,000 211,800
201 et 24,800 27,000 A 2,200
01 At 22l 5,000 5,000 0
Ot 22 M&E ¢ 5,000
03 A2 Z Hl 19,800 22,000 A2,200
Od=8t IIEALE 22A 6,300
OYLRo & R ZHHA 6,300
O 4HE st AL 7,200
301 LBEXS 40,400 50,000 A 9,600
12 JIE2 4= 40,400 50,000 A 9,600
O&l 0L B =0 AR X R OFIIAIRIS
X & 40,0003 =160 6,400
OdldoL 24 sotE3 A& 100,000& *340H 34,000
sS4 Ze N 81,250 79,500 1,750
< 21,650
Al 59,600
307 21201 A 81,250 79,500 1,750
< 21,650
Al 59,600
NIEEEEET 54,000 54,000 0
Odt% A2z X 54,000
< 16,200
Al 37,800
02 It M AHE X 10,000 10,000 0
OO0l Dl ESNHE ANzZ2sE2F 29 10,000
< 2,000
Al 8,000
11T AL SXAIEE = 17,250 15,500 1,750
O(tid)=s0tE8 N2 17,250
< 3,450
Al 13,800
AZAMOtH 22 X2 AHY 345,000 262,500 82,500
s 276,000
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= Mn i

345,000
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345,000
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1
1
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0
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14,289
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41,
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OM2=+d, a3+d A=t &

Il

= M
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41,
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= W
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= N W
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A 18,000

O
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120,000

120,000
60,000
24,000
36,000

138,

000

A 18,000

=z Hn ¥

17,802
10,162
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Il
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4,000
1,200
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1,000
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M MO o7 A2 At
bS] 22

SR YR0L AT AL (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,200
Al 2,800
o1 s =t 8,000 7,000 1,000
O0l=x0F & dAFH0I4A0F 2SI K& 8,000
J| 4,000
& 1,200
Al 2,800
SEHLUAIOI A A2 AF Y EHor2tel 4,000 2,000 2,000
J| 2,000
= 600
Al 1,400
307 QI2t0| & 4,000 2,000 2,000
J| 2,000
o=} 600
Al 1,400
01 22232 =H| 4,000 2,000 2,000
OEE L HAIO| A AF & BHOF 22| 4,000
J| 2,000
& 600
Al 1,400
R XD & 1,600 4,000 N 2,400
J| 800
= 240
Al 560
307 2iz2to| A 1,600 4,000 N 2,400
J| 800
== 240
Al 560
01 e =t 1,600 4,000 N 2,400
OAIAOF LHE XD &I 24 AbH| 1,600
J| 800
= 240
Al 560
A0 LI HLUAAH XN (FS0F L MOHA 1,060 1,188 N 128
S| AEALY)
J| 848
= 106
Al 106
307 2Iz2to| A 1,060 1,188 AN 128
J| 848
& 106
Al 106
01 sd =t 1,060 1,188 N 128
OgK0f 2EH HLAAH X 1,060
J| 848
= 106
Al 106
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M XFMO 7 A2l AY
SRl RO AIMOMBE A2 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FH7O0F HEALS 1,600 4,008 A2,408
J| 1,280
< 160
Al 160
307 gl2tol & 1,600 4,008 A2,408
J| 1,280
< 160
Al 160
05 RIZHRIEF 3 1,600 4,008 N2,408
OgzsW=a L R0t JEAY 1,600
J| 1,280
< 160
Al 160
R0t A2ZHE EEH] 1,542 1,542 0
J| 1,234
< 154
Al 154
201 L2l 1,542 1,542 0
J| 1,234
< 154
Al 154
01 At 22l 1,542 1,542 0
O2dss5t=ca A AZF AL 2| 1,542
J| 1,234
< 154
Al 154
A2 A ztel 33,552 476,488 AN 442,936
J| 8,616
< 4,308
Al 20,628
AR Ols 222 16,320 16,660 A 340
301 LeEBAF 4,320 6,660 A2,340
09 #HALAHIXI &3 2,160 2,160 0
OsdXd Z208 2235 A&
8,000& 15 183 2,160
12 J|EtE 4= 2,160 4,500 A2,340
Os&Xd Z208 2F 2ZAH]
120,000& =182/ 2,160
307 21201 A 12,000 10,000 2,000
01 92724l 12,000 10,000 2,000
OYurs deH ¢ 15,000& *400E 28 12,000
HEBAEHE M 632 632 0
J| 316
< 158
Al 158
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 632 632 0
J| 316
< 158
Al 158
05 RIZIRI & 3 632 632 0
OHZEZNEHE 2L 632
J| 316
= 158
Al 158
FAEME LASL oZH X 2,400 1,200 1,200
J| 1,200
< 600
Al 600
307 21201 A 2,400 1,200 1,200
J| 1,200
< 600
Al 600
01 922724l 2,400 1,200 1,200
OFAaYE &2 da sS4 o/gH X 2,400
J| 1,200
< 600
Al 600
DAggdaRozd XA 14,200 17,996 A 3,796
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XLl SSASBAS 98 H2AL ALY
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x = - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
= 2,572
Al 10,288
01 AP 22| d| 12,860 14,638 N1,778
OmesALe 2YSE 7Y
3,215,000& x4 3| 12,860
& 2,572
Al 10,288
307 2iztol A 9,000 10,000 A 1,000
& 1,800
Al 7,200
o1 s =t 9,000 10,000 A 1,000
OgHL2AZANY =288 7L
45,000 »200 9,000
& 1,800
Al 7,200
EAHA CLHAS M2I 4 (CHL A S FMTP) 2,940 2,940 0
J| 1,470
Al 1,470
201 LBt ]| 2,940 2,940 0
J| 1,470
Al 1,470
01 AP 22| d| 2,940 2,940 0
OALE2EE olgt2tel 8203 ) KH|(FMTP)
2,940,000& 1 2,940
J| 1,470
Al 1,470
KA HUAERA ZAIEA QESH (KA HAYX 67,948 67,948 0
A)
J| 33,974
= 6,795
Al 27,179
202 044 500 500 0
J| 250
= 50
Al 200
01 2L Y| 500 500 0
OXGAS HLEZA AFSE =X 04 H|
100,000& *53] 500
J| 250
o= 50
Al 200
307 QI2t0| ™ 67,448 67,448 0
J| 33,724
= 6,745
Al 26,979
05 QIZtR &S 67,448 67,448 0
OXEAS| 242 = AL 67,448,000 13| 67,448
J| 33,724
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M Aot s=EEgdsS f8 g 2elAY
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SN FH-SA(EN) - MBAY - BES e HlnE2
< 6,745
Al 26,979
NS EAAY RsAtcll €2 SSLe WS 1,960 0 1,960
J| 980
Al 980
201 ¢er24| 1,960 0 1,960
J| 980
Al 980
01 At 22l 1,960 0 1,960
O AY =Atell 2= L3 Il
1,960,000& *1H 1,960
J| 980
Al 980
2tE Xt olEHl ¥ Morrzel XA (Mo e 22l 19,766 16,900 2,866
AH)
J| 9,883
< 1,977
Al 7,906
201 et 800 760 40
J| 400
< 80
Al 320
01 At 22l 800 760 40
OMItE &MY =257 400,000& »23| 800
Jl| 400
= 80
Al 320
202 Odl 2,000 1,000 1,000
J| 1,000
< 200
Al 800
01 = LH 4 Hi 2,000 1,000 1,000
OMItL 2| At =& 200,000& x 102 2,000
J| 1,000
< 200
Al 800
301 LeEBA S 2,240 2,180 60
J| 1,120
= 224
Al 896
09 HALAHIXI &3 1,440 1,460 A 20
OMItgett T2 F8 B4z
180,000 82| 1,440
J| 720
= 144
Al 576
12 JIEtE 43 800 720 80
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A EAA
M NOIEel SAFAS S YRAYBIAY
Sl WRAHY alAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og=zdZ2elAmy =& 0/l 550,000& =108 5,500
= 2,750
< 550
Al 2,200
ZE0I8X 22 HgdZ XA 23,826 0 23,826
101 @124 dl 18,826 0 18,826
04 JI2ZtHZ22HEE =+ 18,826 0 18,826
OZE0I2A UL XNHAY 12 18,826
2= 69,7603 x1H 186 12,976
= R 69,7603 x 1«49 3,419
AHEE AMEXNRES 16,395, 000& *9% 1,476
=zl 100,000 1«91 & 900
22A OS] 55,0002 x1H » 1L 55
307 glz2tol & 5,000 0 5,000
01 222l 5,000 0 5,000
OZE0I2X FHULEIZXE
40,000& x125H 5,000
TLEHAS 21,200 27,200 A 6,000
< 6,360
Al 14,840
X0t & ORI AME(EX) 6,200 7,200 A 1,000
< 1,860
Al 4,340
201 Let24d] 2,000 2,000 0
= 600
Al 1,400
01 At 22l 2,000 1,000 1,000
OFZE22HAY 28 235 & 500,000& *43] 2,000
< 600
Al 1,400
307 glz2tol & 4,200 5,200 21,000
= 1,260
Al 2,940
01 22724l 4,200 5,200 A 1,000
OXI0F EHRI MEPL(MHEE 2 108)
1,400,000& *33l 4,200
< 1,260
Al 2,940
Lolox BEFAE(EX) 15,000 20,000 A5,000
< 4,500
Al 10,500
307 izl & 15,000 20,000 A5,000
= 4,500
Al 10,500
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I Xot2e sHEMS /s gEHd 22 AY
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 sd =t 15,000 20,000 A5,000
ORLAHL22|I (=X & At=22ld])
500,000 x15H x22¢ 15,000
& 4,500
Al 10,500
NSAI S HAH2L &A 1,572,730 1,181,586 391, 144
= 5,696
J| 363,834
= 249,586
Al 953,614
NEAS HABAHALY 1,572,730 1,181,586 391, 144
= 5,696
J| 363,834
= 249,586
Al 953,614
HAALAEXHEH 29 39,050 23,000 16,050
201 et 17,250 2,200 15,050
01 AF 22| H| 15,900 2,200 13,700
OFANALTERY 48 DK
2,200,000& 14 2,200
OF2MSZz s 29 200,000 x503] 10,000
OZZLH19 AelXd 2928 7Y
1,500, 000& *13] 1,500
OFNAHLANYE EE2EE 7 ¢
2,200,000& x13| 2,200
03 A2 HH| 1,350 0 1,350
OFMNEOHC Al 23 HE A}
1,350, 000& *13] 1,350
202 04| 1,800 1,800 0
01 2L I 1,800 1,800 0
OBANAHLEEZRAA £=d (H|
1,800,000 x1H 1,800
301 et A= 3,000 0 3,000
09 SHAIAHI X &2 3,000 0 3,000
OXFNMAUAIY =8 BAS (W)
33,0008 x20H «503] 3,000
307 2iz2to| & 17,000 19,000 A 2,000
01 s R=Hl 17,000 19,000 A 2,000
OXN&AANZX & HAMEEX} S32=H K&
500,000 x4 2,000
OFNMAEEX XIZ2H K& 130,000 100H 13,000
OFNEEA HA22IE /S I 2L
1,000, 000& *23] 2,000
HATHEIA L (BX) 744,320 687,820 56,500
= 223,296
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M NAMEN FAAY
Sl KISAIE BARAAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 521,024
307 glz2tol & 744,320 687,820 56,500
< 223,296
Al 521,024
11T MISXASEEX 744,320 687,820 56,500
OZATHEANLE 2EH X
724,880,000 =104 2 724,880
= 217,464
Al 507,416
OBAUTHEAE BAX SEE€=Y
1,767,270 +11% 19,440
< 5,832
Al 13,608
Aaoe AMelXls K& 50,300 56,200 25,900
< 15,090
Al 35,210
101 14 Hl 39,000 38,000 1,000
< 11,700
Al 27,300
04 JIZHHZ22XREES 39,000 38,000 1,000
OXtaue delxis NEaAMY A2Y 39,000
= 11,700
Al 27,300
201 Let24d] 5,900 10,200 A 4,300
< 1,770
Al 4,130
01 At 22l 3,900 4,200 A 300
OozZz1d 29 =3 ¢ 290,000& =103l 2,900
< 870
Al 2,030
OMY 2223 7¢ 1,000,000& *13l 1,000
< 300
Al 700
03 &Ar2 Gl 2,000 6,000 A 4,000
OX&UE & A 2,000,000 » 14! 2,000
< 600
Al 1,400
202 O4dl 1,000 2,000 A 1,000
< 300
Al 700
01 = LH 4 Hi 1,000 2,000 A1,000
OXaue delxls XFAY FE0o 1,000
< 300
Al 700
301 LEtEBA S 2,400 3,000 A 600
= 720
Al 1,680
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SA EHA

Ha: NGNS FAAY 4
Sl KISAIE BARAAY (chgl: &2
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
09 HALAHIXIES 1,200 1,200 0
OXtaue 8XXs NIAMY =2 243
5,000 x20H 122 1,200
= 360
Al 840
2J24=3 1,200 1,800 A600
ORAOY M2XS NBAY 22X AL
80,000& 152 1,200
= 360
Al 840
307 glztol & 2,000 3,000 21,000
= 600
Al 1,400
01z 2=l 2,000 3,000 A 1,000
OXADEZ 228 XY 200,0002 10 2,000
< 600
Al 1,400
Nady & JAABSTAMY 30,540 30,540 0
Jl 15,270
Al 15,270
101 1248l 30,540 30,000 540
Jl 15,270
Al 15,270
04 D12 R22 T S2= 30,540 30,000 540
OXau & MALSTAY =2 30,540
Il 15,270
Al 15,270
AL SANHE NHUY AT 35,314 0 35,314
Il 17,657
Al 17,657
101 12 8] 32,000 0 32,000
l 16,000
Al 16,000
04 JIZtNZ22XNSE+ 32,000 0 32,000
OFNAZZNHE Mauy dgssts 02y 32,000
Jl 16,000
Al 16,000
201 fEt2E | 3,314 0 3,314
Il 1,657
Al 1,657
01 AtR 2t 2l | 3,314 0 3,314
Oonz]d 298 =23 7¥ 331,400& *102 3,314
Il 1,657
Al 1,657
IEZFAAYSNHE 29 184,224 182,440 1,784
Jl 92,112
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Sl KISAIE BARAAY (chgl: &2
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 92,112
101 Q121 H] 161,900 137,000 24,900
J| 80,950
Al 80,950
04 JI2ZtHIZ22NEE 161,900 137,000 24,900
OFANAHUETHMEYH A 161,900
J| 80,950
Al 80,950
201 et 9| 17,724 30,440 N12,716
J| 8,862
Al 8,862
01 AP 2t 2| bl 14,224 25,440 A 11,216
OFAAL MO (M) FIHE FH2E
0,000 x5H x123] 4,200
J| 2,100
Al 2,100
OFANAHULEIANAH A 500,000 x12J00 & 6,000
J| 3,000
Al 3,000
OFAMNAHLEXNHEH A2 2
250,000& x123] 3,000
J| 1,500
Al 1,500
Omz )y 2d9=8 ¢ 204,800& *53| 1,024
J| 512
Al 512
02 Z=22%H| 3,500 3,500 0]
OFANAHAUEXNANAEH SA 22 875,0002 43| 3,500
J| 1,750
Al 1,750
301 et A= 4,600 12,000 ANT,400
J| 2,300
Al 2,300
09 SHAIAHI X & 2 3,000 9,000 A 6,000
OFMNAHLAIE =& BAZ 3,000 #2202 503/ 3,000
J| 1,500
Al 1,500
12 J|EtE2 A= 1,600 3,000 A 1,400
OBAMNAHUAIYE T2 2AAILE
80,000& *203] 1,600
Jl 800
Al 800
OlsSEAYE HAALSTAIY 52,294 51,970 324
J| 26,147
Al 26,147
101 21 214| 45,000 45,000 0
J| 22,500
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5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 22,500
04 JI2ZtHIZ22NEE S 45,000 45,000 0
OOtsaAYE HMHLSEAIY 1E 45,000
Jl 22,500
Al 22,500
201 et 9| 3,494 5,370 AN 1,876
p] 1,747
Al 1,747
01 AF 2t 2| bl 3,494 5,370 N 1,876
OZzd 89 28 ¢ 249 ,400& =103 2,494
J| 1,247
Al 1,247
OOISHAWE FAUAYSIANY S22E 7Y
1,000,000 = 14! 1,000
J| 500
Al 500
202 04| 2,000 0 2,000
J| 1,000
Al 1,000
01 2Ll 2,000 0 2,000
OFAMNAHLUSEAY =& H| 2,000
J| 1,000
Al 1,000
301 et M= 1,800 1,600 200
J| 900
Al 900
09 #HAIAHI XIS 2 1,000 1,100 A 100
OOSHAE FAAYZINASE 243
5,000& *x20H *103] 1,000
J| 500
Al 500
12 JIEtE2 &= 800 500 300
OOlsaEAY HAUHUASTAIY 2AIx=E
80,000& *103] 800
Dl 400
Al 400
HAUALZRME oeiss 145,296 143,920 1,376
J| 72,648
Al 72,648
101 e1214| 145,296 143,920 1,376
J| 72,648
Al 72,648
04 JI2tHIZ22XNEE S 145,296 143,920 1,376
OFANAHUEIAMAEH Q122 144,196
J| 72,098
Al 72,098
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Ha: NGNS FAAY 4
Sl KISAIE BARAAY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFNALENNEH BAL 222 7Y
100,000 11X 1,100
J| 550
Al 550
HAEE ZIIXE - NS A 3,560 0 3,560
= 1,780
Al 1,780
307 2Iz2t0| & 3,560 0 3,560
= 1,780
Al 1,780
01 sd =t 3,560 0 3,560
OFMAEE ZJIXE XNSAIE 356,000 *x10H 3,560
= 1,780
Al 1,780
iMool X=dl A 1,760 0 1,760
= 880
Al 880
307 212+0 & 1,760 0 1,760
= 880
Al 880
o1 szt 1,760 0 1,760
Od#FAUA X=H XA 880,000 x2H 1,760
= 880
Al 880
=224 HE2 N 2,512 0 2,512
= 1,256
Al 1,256
307 212t0| ™ 2,512 0 2,512
= 1,256
Al 1,256
01 2l 2¥d32=H| 2,512 0 2,512
Oossg4d H= XA 628,000 x4 2,512
= 1,256
Al 1,256
HAAEE QXXM X=H XA 3,560 0 3,560
= 1,780
Al 1,780
307 2iz2to| & 3,560 0 3,560
= 1,780
Al 1,780
01 e =l 3,560 0 3,560
OFPAEE QefXIZXNEEH XIZ2H XA
356,000& x10H 3,560
= 1,780
Al 1,780
SHPAUALSIAL 280,000 0 280,000
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< 11,200
Al 128,800
101 124 dl 30,000 0 30,000
| 15,000
< 1,200
Al 13,800
0412t Z2XREES 30,000 0 30,000
OSEFUALSEAY 212 30,000
J| 15,000
= 1,200
Al 13,800
201 2et2d] 182,800 0 182,800
| 91,400
< 7,312
Al 84,088
01 At 22l 159,800 0 159,800
ORS 2 T2 2Y2E 7Y
350,000& *2002] 70,000
J| 35,000
< 2,800
Al 32,200
OclZd & 22235 #2  5,000,000& =104 50,000
| 25,000
< 2,000
Al 23,000
O2ZZ2LULH9 S MHA2XNIEMNY 2E2E 7
3,700,000& »23| 7,400
| 3,700
< 296
Al 3,404
O8ZEoAH(OtSH2ZFXY) =¢
750,000+ 1200 & 9,000
| 4,500
= 360
Al 4,140
OMEES € W7 P 10,200
| 5,100
< 408
Al 4,692
Ooxgd & 23&H elaz 10,000
| 5,000
< 400
Al 4,600
O=2gtl 8,000& x4 100! 3,200
J| 1,600
< 128
Al 1,472
02 3323l 3,000 0 3,000
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CEPS
HH2AAH (BEAHA)
Jl2&dhl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 (4] 171,200 175,200 A4,000
01 2L Y] 54,800 58,800 A 4,000
OB2AAMY g2FA 54,800
02 MY 116,400 116,400 0
OBAX A EHNYI 61,200
Otd, Ch&, &HLHH 300,000 x5H = 12& 18,000
o™ 250,000 »2H x12& 6,000
2SS 200,000 »2H x12& 4,800
JEtS¥ s 150,000& x18H x12& 32,400
OBAHAZ A FAHNH| 55,200
otg, th, &tLHdA 300,000 x4H x12& 14,400
olal™ 250,000& x1H x12& 3,000
2ES 200,000 »3H x12& 7,200
JEtS¥ s 150,000& *17H = 12& 30,600
203 &R =&H| 27,190 27,010 180
01 J|22HLRF=AH| 3,300 3,300 0
OJ|22H R =4 3,300
02 HRJAHE R =&Y 5,650 5,590 60
OFAAINMARFEY| 5,650
04 2SI LR F=AH| 18,240 18,120 120
ORAN2ELERFAH| 18,240
S2AX 3 9,240
A2 M) 4,200
X| OH OF &4 1t 4,800
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